This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

5,471 4 1,095

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Bradley BOOTH	Independent	65
Bill CAMPBELL	Scottish National Party (SNP)	1,090
Donald HAY	Scottish Conservative and Unionist	643
Fraser MACPHERSON	Liberal Democrat Focus Team	2,105
Andrew MCBRIDE	Scotland Independent Network	67
Richard Blake MCCREADY	Labour and Co-Operative Party	637
Morgan PETRIE	Scottish Green Party	331
Steven ROME	Scottish National Party (SNP)	474
Tam WILSON	Scottish Socialist Party	59
	Total	5,471

Candidate Fraser MACPHERSON Elected with 2,105 votes, being in excess of the quota of 1,095

Ward 3 - West End

This report contains the transfers results.

Stage 2 - Surplus of Fraser MACPHERSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bradley BOOTH	60	0.47980	28.78800
Transfer to Bill CAMPBELL	252	0.47980	120.90960
Transfer to Donald HAY	509	0.47980	244.21820
Transfer to Fraser MACPHERSON	0	0.00000	0.00000
Transfer to Andrew MCBRIDE	107	0.47980	51.33860
Transfer to Richard Blake MCCREADY	500	0.47980	239.90000
Transfer to Morgan PETRIE	211	0.47980	101.23780
Transfer to Steven ROME	68	0.47980	32.62640
Transfer to Tam WILSON	15	0.47980	7.19700
Value of non-transferable ballot papers			183.78440
	Total		1,010.00000

This report contains the transfers results.

Stage 3 - Surplus of Bill CAMPBELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bradley BOOTH	4	0.04592	0.18368
Transfer to Bradley BOOTH	12	0.09572	1.14864
Transfer to Bill CAMPBELL	0	0.00000	0.00000
Transfer to Donald HAY	9	0.04592	0.41328
Transfer to Donald HAY	9	0.09572	0.86148
Transfer to Fraser MACPHERSON	0	0.00000	0.00000
Transfer to Andrew MCBRIDE	9	0.04592	0.41328
Transfer to Andrew MCBRIDE	9	0.09572	0.86148
Transfer to Richard Blake MCCREADY	34	0.04592	1.56128
Transfer to Richard Blake MCCREADY	54	0.09572	5.16888
Transfer to Morgan PETRIE	31	0.04592	1.42352
Transfer to Morgan PETRIE	61	0.09572	5.83892
Transfer to Steven ROME	126	0.04592	5.78592
Transfer to Steven ROME	889	0.09572	85.09508
Transfer to Tam WILSON	3	0.04592	0.13776
Transfer to Tam WILSON	6	0.09572	0.57432
Value of non-transferable ballot papers			6.44208
	Total		115.90960

This report contains the transfers results.

Stage 4 - Exclusion of Tam WILSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bradley BOOTH	1	0.09572	0.09572
Transfer to Bradley BOOTH	1	0.47980	0.47980
Transfer to Bradley BOOTH	1	1.00000	1.00000
Transfer to Bill CAMPBELL	0	0.00000	0.00000
Transfer to Donald HAY	1	1.00000	1.00000
Transfer to Fraser MACPHERSON	0	0.00000	0.00000
Transfer to Andrew MCBRIDE	1	0.47980	0.47980
Transfer to Andrew MCBRIDE	3	1.00000	3.00000
Transfer to Richard Blake MCCREADY	1	0.09572	0.09572
Transfer to Richard Blake MCCREADY	1	0.47980	0.47980
Transfer to Richard Blake MCCREADY	5	1.00000	5.00000
Transfer to Morgan PETRIE	2	0.09572	0.19144
Transfer to Morgan PETRIE	2	0.47980	0.95960
Transfer to Morgan PETRIE	32	1.00000	32.00000
Transfer to Steven ROME	1	0.04592	0.04592
Transfer to Steven ROME	2	0.09572	0.19144
Transfer to Steven ROME	5	0.47980	2.39900
Transfer to Steven ROME	11	1.00000	11.00000
Value of non-transferable ballot papers			8.49084
	Total		66.90908

This report contains the transfers results.

Stage 5 - Exclusion of Bradley BOOTH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill CAMPBELL	0	0.00000	0.00000
Transfer to Donald HAY	1	0.09572	0.09572
Transfer to Donald HAY	12	0.47980	5.75760
Transfer to Donald HAY	6	1.00000	6.00000
Transfer to Fraser MACPHERSON	0	0.00000	0.00000
Transfer to Andrew MCBRIDE	10	0.47980	4.79800
Transfer to Andrew MCBRIDE	9	1.00000	9.00000
Transfer to Richard Blake MCCREADY	8	0.47980	3.83840
Transfer to Richard Blake MCCREADY	11	1.00000	11.00000
Transfer to Morgan PETRIE	2	0.09572	0.19144
Transfer to Morgan PETRIE	11	0.47980	5.27780
Transfer to Morgan PETRIE	17	1.00000	17.00000
Transfer to Steven ROME	1	0.04592	0.04592
Transfer to Steven ROME	9	0.09572	0.86148
Transfer to Steven ROME	3	0.47980	1.43940
Transfer to Steven ROME	10	1.00000	10.00000
Transfer to Tam WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			21.39008
	Total		96.69584

This report contains the transfers results.

Stage 6 - Exclusion of Andrew MCBRIDE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bradley BOOTH	0	0.00000	0.00000
Transfer to Bill CAMPBELL	0	0.00000	0.00000
Transfer to Donald HAY	26	0.47980	12.47480
Transfer to Donald HAY	16	1.00000	16.00000
Transfer to Fraser MACPHERSON	0	0.00000	0.00000
Transfer to Richard Blake MCCREADY	33	0.47980	15.83340
Transfer to Richard Blake MCCREADY	13	1.00000	13.00000
Transfer to Morgan PETRIE	1	0.04592	0.04592
Transfer to Morgan PETRIE	1	0.09572	0.09572
Transfer to Morgan PETRIE	14	0.47980	6.71720
Transfer to Morgan PETRIE	14	1.00000	14.00000
Transfer to Steven ROME	4	0.04592	0.18368
Transfer to Steven ROME	6	0.09572	0.57432
Transfer to Steven ROME	6	0.47980	2.87880
Transfer to Steven ROME	10	1.00000	10.00000
Transfer to Tam WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			45.08732
	Total		136.89116

This report contains the transfers results.

Stage 7 - Exclusion of Morgan PETRIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bradley BOOTH	0	0.00000	0.00000
Transfer to Bill CAMPBELL	0	0.00000	0.00000
Transfer to Donald HAY	2	0.04592	0.09184
Transfer to Donald HAY	1	0.09572	0.09572
Transfer to Donald HAY	18	0.47980	8.63640
Transfer to Donald HAY	20	1.00000	20.00000
Transfer to Fraser MACPHERSON	0	0.00000	0.00000
Transfer to Andrew MCBRIDE	0	0.00000	0.00000
Transfer to Richard Blake MCCREADY	6	0.04592	0.27552
Transfer to Richard Blake MCCREADY	6	0.09572	0.57432
Transfer to Richard Blake MCCREADY	81	0.47980	38.86380
Transfer to Richard Blake MCCREADY	106	1.00000	106.00000
Transfer to Steven ROME	9	0.04592	0.41328
Transfer to Steven ROME	43	0.09572	4.11596
Transfer to Steven ROME	42	0.47980	20.15160
Transfer to Steven ROME	177	1.00000	177.00000
Transfer to Tam WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			139.76092
	Total		515.97936

This report contains the transfers results.

Stage 8 - Exclusion of Steven ROME

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bradley BOOTH	0	0.00000	0.00000
Transfer to Bill CAMPBELL	0	0.00000	0.00000
Transfer to Donald HAY	9	0.04592	0.41328
Transfer to Donald HAY	29	0.09572	2.77588
Transfer to Donald HAY	9	0.47980	4.31820
Transfer to Donald HAY	21	1.00000	21.00000
Transfer to Fraser MACPHERSON	0	0.00000	0.00000
Transfer to Andrew MCBRIDE	0	0.00000	0.00000
Transfer to Richard Blake MCCREADY	40	0.04592	1.83680
Transfer to Richard Blake MCCREADY	321	0.09572	30.72612
Transfer to Richard Blake MCCREADY	47	0.47980	22.55060
Transfer to Richard Blake MCCREADY	283	1.00000	283.00000
Transfer to Morgan PETRIE	0	0.00000	0.00000
Transfer to Tam WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			472.18732
	Total		838.80820